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Time: 10 Minutes Paper Math 3 Total Marks: 10

2nd Month, 1st Week, 3rd Day [ Syllabus: Unit 2: Exercise # 1 , Q No.3, 4, 5.
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(1) There are 3454 orange trees and 2345 guava trees in an orchard. Find the total

Q.No.1: Solve the following questions.

number of trees. 3)
S ISP -t eind 2345 sl o F3asatiL
(i1) Zubair paid Rs.6758 and Rs.3441 in March and April respectively, as gas
charges. Find the total amount paid by him for gas. 3)
Nyt mﬂffJsz,w- 23441 uﬁd/?w'%u6758uf@/l.d5gwﬁ_ oy
(iii)  Population of the village 'A' is 4536 and population of the village 'B' is
3253. Find the total population of both the villages. (@)
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(ii) Zubair paid Rs.6758 and Rs.3441 in March and April respectively, as gas
charges. Find the total amount paid by him for gas. 3)
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(i)  Population of the village 'A' is 4536 and population of the village 'B' is
3253. Find the total population of both the villages. 4)
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